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SECTION -1 :
MATHEMATICS & SCIENCE

60° to the
K. The

A particle is projected at

horizontal with a kinetic energy
kinetic energy at the highest point is

(A K &) K
4 2
(€} K {D) zero

Three masses are placed on the x-axis : 300
gm at origin, 500 gm at »r = 40 cm and 400
gm at x = 70 cm. The distance of the centre

of mass from the origin is
{A) 45 cm {B) 40 cm

{C) 50 cm (D) 30 cm

An artificial satellite moving in a circular
orbit around the earth has total energy [PE +
KE] E,. Its potential energy is

(A) —E, ® E,
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If pendulum bob on a 2 metre string is
displaced 60° from the vertical and then

released, what is the speed of the bob as it is
passes through the lowest point in its path ?

A 2 m/sec ®) 2'x9.8 m/sec

(C) 4.43 m/sec (o) 1
— m/sec
2

Which of the following does not have a
metal carbon bond ?

() K[Pt(C,H,)CL5] B AI(OC,H.),
(© C,H:Mg Br (0) Ni(CO),

In what ratio does the point (-4, 6) divide
the line segment joining the points A(-6, 10)
and B(3,-8) ?
(A)2:7

©3:7

(8) 4:5
DY4:9

A 25 watt-220 volt bulb and a 100 watt
-220 volt bulb are joined in series and
connected to the mains. Which bulb will
glow brighter ?

(A) Both will glow with same brightness

(B} 25 watt bulb

(€} First 25 watt bulb and then 100 watt
bulb

{D) 100 watt bulb

“ I UF UrgaH g W 2 W oA 9 9

§UT 8, B THEER ¥ gp° W o WER
BIs o Smar & 1 9fT 37 oo v w

| g 9 TRy w® 3wy e 2
A 7 B /7xog HAL
© 4.43 A, ® 1

vz

Frefoied & & s argadT d9y W
g2

(A K[Pt(C,H,)Cl,]

(B) Aiiﬁﬁzﬁs}s

@  CHMgBr ®  Ni(CO),

a1 fageit Ace, 10) @ B(3, _8) @
SIS aTel YErET Bl R (4, 6) faw

AT H gre -
(A 2 : 7 Bl 4 : 5
€ 3:7 D) 4 :9

25 9IC -220 dlec B TH g Bl 100
a1 220 qlec & N ged I Aoy
SR 4= Red (09 waR) A @
ST € | B AT 9ed Sif¥e gHS 2
(A) SHT god THT TEHT |

(8) 25 qrC HT dcq

(© Uget 25 I BT 9o fBY 100 1€ FT
goq

(®) 100 9Ic FT doq
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8.

1.

12.

10

The rate constant for the first order reaction | 8.
is g0 s~ I The time in which it reduce the |

1

concentration of the reactant to _th value\
16
is ‘
(A) 46 seconds \
|
i
|
1
|

(8) 4.6 x 1072 seconds
(© 4.6 x 1072 seconds

{D) 2 seconds

Percentage errors in the measurements of | e
mass and speed are 2% and 3% respectively.
The error in the estimate of kinetic energy
obtained by measuring mass and speed will\
be ‘
{A) 12%

(€ 8%

(B) 2%
(p) 10%

Which ore contains hoth iron and copper ? 1} 10.
{A) Chalcocite {B) Chalcopyrite \
1

(€) Cuprite (D) Malachite

In Friedel Crafts alkylation, besides AlCls, |1
the other reactants are

A C.Hg+ NH3 B C.H, + CHsCl }
€ C.Hg + CH,COCl

D) C.Hg + CH,

1
The perimeter of a triangular field is 450 m | 12
and its sides are in the ratio 13 : 12 : 5. The
area of the triangle

(A) 7560 m? ® 5670 m”

(® 6570 m*

© 6750 m?

W_ﬁ%ﬁwsﬁﬁmﬁﬁ_

ReRis  gost © | 98 T e

afreRe @1 dgor LT A JE ST
i&

T -

(A) 46 THTSH

(8) 4.6x 1077 3=
(© 4.6x1072 &=
(D) 2 WHTSH

WWW%WT\@W 2%
eﬁ-\fs%ﬁgﬁmzﬁwfrn‘s‘lw

dR Are & AT & g RS oSt @
e § Ffe Bl -

(R} 12% (B) 2%

© 8% (D) 10%
%ﬂwmﬁﬁ?%ﬂ@aﬁ%
(A) FreHEEe (B) HATeHIIRIZC

(© IguIST (0) Herarze

e HIGC ™ Q?ﬂg' Yt 3 A0 >

(A) {:EHf - :‘:,.-

8) C.H. + CHsCt

(C) CGHEv =3 CH3CG{:£

) C.Hg+ CHy

REY &9 o1 uRE™ 450 H g
o SaE Yo w1 a1 12 15
3 | BrETeR T4 P g B

(W 7560 (8 5670

©  6750% ® 6570




13.

14.

15.

. 33
The nucleus resulting from ‘“‘EU after
92

successive emission of two g-particles and

four B-particles is

(A) 230 (B) 3o
Pu “Th

@ 230 (D) zaoR
92 ggha

At the magnetic poles of the earth, a
compass needle will be
(A) Vertical (B) Bent slightly

{€) Horizontal

{D) Inclined at 45° to the horizontal

The molarity of pure water is (density of
water =1 gm L‘l)

{A} 45.55 M
{C) 66.66 M

{8) 55.55 M

(D) 44.4 M

—

Ina AABC,AB= 53 m AC=12cmand|1

BC =6 cm, then the angle B is
{A) gg° (B) 45°

& 120° () 60°

PEEG A A T AR g B
92

—

5.

HHIE SoSE & URUTEAEESY g9 arell
AP -

(a) 230 (8) 230

o4 PU sl h
(€) 230 (b) 230,
2, 0

9l & FEDHY g4l R TP HErT @

g el -

(A) Feafer

®) Eoal W g g

© s

@) ST & 450 W P &

Y€ I B QRN T (S BT " =
Tgm =4
(A) 4555 M
(© 66.66 M

(B] 5555 M
(D) 444 M

U@ RS AABC W AB = gy3 O, AC

= 12 9 T BC = 6 O B o BT B
BT AF B

Ay gQ° (B 45°

©  120° () 60°
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7. A small metal ball is suspended in an

18.

uniform electric field with the help of an

insulated thread. If a high energy X-ray

beam fallson it

(A) The ball will be deflected opposite to the
direction of field.

8) The ball will be deflected in the direction
of field.

(©) The ball will move to infinity.

(D} The ball will not deflected at all.

A body cools from80°C to g4 °C in 5}18
minutes and same body cools from 80 °Cto
52°C in 10 minutes. What is the
temperature of surroundings ?

(A) 24°C (8) 28°C

(9 25°C (o) 22°C

Which of the following is not a colligative
property ?
(A) Relative lowering in vapour pressure

(8) Elevation in boiling point
(C) Depression in freezing point

(D) Optical activity

z

L f 5 =3 — 242, then x7 + = will be

(8) 24
(D) 36

(a) 30
€} 34

|
!
| 1s.

\ 20.
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|
|
|
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A e de@ &m @ AW feam #
A& erf |
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ST dTaTaRel BT d1d BN
(A 24°C ) 28°C

N

© 25 °C o) 22°C

crfrReT § ¥ OSSO el &
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©) gHIE
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B -

(A} 30 (8) 24
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21.

23.

25,

Root of the equation 32 & Jix+6=0

A 3 B 2
” 31.—1 & 2i,—i
2 3
(@ 2 (D) 3i, 2i
—3i—1
3

The work done in placing a charge of
8 X 107'® Coulomb on a capacitor of

capacity 100 microfarad is
A 16 x 10732 Joule

(B) 3.1 X 10728 Joule
© 4 x 1071 joule

@) 32 x 10732 joule

The value of  in the following series :
1+6+11+16+........ +x =148
A

3
{c) 37

,.k
o
Ci)
2
w
0

- If a body loses half of its velocity on

penetrating 3 cm in a wooden block, then
how much will it penetrate more before
coming to rest ?
{A) 1 cm

€ 4cm

(8} 2 cm

(D) 3cm

If the arcs of same length in two circles
subtend angles of 60° and 75° at their

centres, then the ratio of their radii
(A)5:4

(€7:8

(8)4:7
D)6:7

w3, ® _ 2

3i,—1i 2i,—1

2 3

9 5% 3. 2
3

2100 HSHIBRS uiRal & Uiy

23.

k|
8 x 10718 oM B IXY T& § Hrf
ST BN -
® 16 x 10752 @

® 31 x 1072 &
@ 4 x 1070w

BV 32 x 10722 <@

FrfefeT S & . 37 =9 2F
1+ 6+ 1 +16 + . + ¥ = 148
(A} 36 () 38
@ 37 (D) 39

% WS Th IY dFY S TP THS W 3

W AGT F emr 9 @ W L A uw

g eﬁ"\f dgT B AR R
feRmATaer # o1 ww 2

(A) 1 cm () 2 cm

© 4 cm ) 3 cm

% XM ANE b A QY gl F b W®

5@0@??50$Wwﬁ§?ﬁﬁfﬁﬁ
@ Broanstt &1 /U 8em -
(A) 5 : 4 B) 4 :7
@ 7:8 D) g:7
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26. The half-life period for a zero order reaction | 26. I B & IR & T g W

is equal to Blel NEY © -

(A) 0.693 () 2K (A) 0.693 (8) 2K
K[A] 0 [A] ) VT'AU o (Al 0
[Ale (o) 0.693 @ [Al, (o) 0.693
2K K 2K K

27. The length of the minute hand of a clock is |27. T TSI &I BFe drefl T Pl dEs 4
14 cm. The area swept by the minute hand I & | e ard @ & g 5 e q

in 5 minutes. Fax Y T &5 BT §IBA BN -
(a) 154 5 {8) 154 . (A) 12‘4 (8) 154
cm — cm” =2 ==
12 6 12 6
(o 154 (o) 154
cm? 2 (@ 154 " (o) 154 a4
3 9
2. The number of moles of KinO, that will |28 KMnQ, & #al 3 = S BT
be needed to react completely with one FRIGT ¥ 1 A9 9 A=y fema ¥
mole of ferrous oxalate in acidic solution is S %
ERE JEWH T -
(A) 3 (B) ii" IA) 2 -ﬁ;rq 4
5 5 i 5 s
ba
0 2 (D} 1 © 2 (D) 1
5 =

Ny
w

. A convex lens is in contact with concave = T3 S5 a9 ﬁ’ﬁ % wuE H T
lens. The magnitude of the ratic of their =@ DiPd gRal & U @I

2 2

focal lengths is —. Their equivalent focal, gRAT — 3| T T Iod Ry
3 | 2

length is 30 cm. What are their im:!i\/ic!ual1 30 T T | S@I -3l BHEd

focal lengthsincm ? 9. F Bl -

(p) =75, 50 {8) 75,50 i (A) -75, 50 (8) 75, 50

() -10, 15 () -15, 10 @ -0, 5 () —5, 10
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3.

32.

33.

The water droplets in free fall are spherical
dueto

(A) Gravity (B) Viscosity
(€) Surface tension

(D) Intermolecular attraction

Real value of x andy, if x—%+ y—’%:i
3+i 3—i

(A) -4,6 (8) 7,-7

) -2,5 (D) -10, 12

The length of a cold storage is double its

breadth. Its height is 3 metres. The area of

its four walls (including doors) is 108 m?.

Its volume will be

(A) 216 m3 8) 206 m*®

© 416m? © 316 m°

Nessler’s reagent is used for the detection of
{A) Na® (8 K+
© cu?* (0) NH;

If "p.="P.,and "C ="C_g, then the

valuesofnandr
AAn=2,r=3

©n=3,r=2

(BYn=5,r=4
{PD)n=4,r=5

Which of the following behaves both as|:

nucleophile as well as an electrophile ?
(A) CH5;CN (8) CH;Cl

(© CH,OH (0) CH,CHO

30

75}
k)

32.

(%)
[

AHR MATER Had SR Bl € 2
() B (B) ZgTal

(O g5 T
(D) STRIIATH MHYU

- afe x-uz;i,:i qa y AR y @I
3+i 0 3—i
qrAfd® A B -
(A) -4, 6 (B) 7, -7
© -2, 5 D) -0, 12

T UG UE P IS SOl dlerg Bl
o T R | s SO 3 WL g | T
IR SRT (ExaTS Gfed) BT &R
1082 & | 99 UE &1 SgA B -

W 216%° B 206%
@ 4165 D) 316%°

forg & © -

(A} Na' (8) KT
© cu*t (D)  NHf

D _n n _n ¥
i P = pr_lﬁzﬂ C;__ Cr‘rl?h n 3R
r I 9 BIT -
(A) n=2r1r=3 (B) n=5r=4

(c)n (D)n=4,r

3, r=2

g § ¥ e Thewd e
SeacEEl ST P ARE B BT T 2
(A)  CH,CN 8)  CH;Cl

() CH,0H (D) CH;CHO




36. A bomb of mass 9 kg explodes into 2 pieces | 36
of mass 3 kg and 6 kg. The velocity of mass 3
kg is 1.6 m/sec. The kinetic energy of mass 6
kg is
(A) 1,92 Joule

{C) 3.84 Joule

kg SHF BT (6 99 RERE & 9
kg @R 6 kg & < THSI # dedr © |
kg oM &7 97 1.6 WAL € 1 6 kg
{A) 1.92 B} 9.6 5
(@ 3.84 Vel (P) 2.92 Vel

7. In a single throw of three dice, the | & Ul & YA Sod H Fd I 5
probability of getting a total of 5 I & FRear BN -

W W

{8) 9.6 loule

(D) 2.92 Joule

36 216 36 216
@ 5 @) 5 © 5 o 5
108 216 ﬁ 2—1é
% |f tanx 4+ secx = v3 such that % AR tonx 4 gery = w5 Safe
0 < x <, then xisequalto @<:x<ﬁ,Fﬁ }_Emm_@.m_
w T & T () T ® T
6 3 = 3
(© 51 (o) 2m { 57 o) 2=n
3 6 3
35, Which of the following is not a good % fa=fafEs # = BT G TS 5.4
conductor ? 8 Cu == N Nl (=)
(A) Cu metal 8} NaCl (molten ,
- K NaCi(s) (®) NaCl(agq)

(© NaCI(s)

0. CH, —CH—CH %1 IUPAC M ©

IUPAC nameof -~ | “is

OH
(A) 1-Ethoxy propan-2-ol
{B) 3-Fthoxy propan-1-ol
{€) Ethoxy pentanol
(D) 2-hydroxy-3-pentanone

. CHy— CgH —CH, —OCHs

OH
(A) 1-geteRil HIoe-2-3ffe
(8) 3-gfRfl TrA-t-3iiet
(© T YA

l (0) 2-EESRN-3-YcAM

Page: 10



41.

ECTION - 1i
ELECTRICAL ENGINEERING

A Central Processing Unit (CPU) of a
computer consists of
(A) Control, Clock and RAM

{8} Control, ALU, RAM and ROM
{C) Control, Clock and ROM

{D) Control and arithmetic logic unit and
primary storage

41.

AT - II
SAfdcHd goll-aRT
PGSR B Uwd WERIT JFE (CPU) H
BT §
(A) FHoid, Tl AR RAM
) =g, ALU, RAM 3R ROM
(© Hd, Telie IR ROM

(@) Hglel, MR T& $HE AR T
HSRTT

42. Which of the following used in electrical |42 o § @ fiee yonell ¥ sug gm@r @
systems ? (A) IR B) Ryforep e
{A) Pyrex {B) Silicon glass (©) TIEaR T ST
{C) Fibre glass insulation D) F TN
(D) All of these

43. The velocity of neutron in a nuclear reactor |43 _[giM &I 7T WA RAT § &g &
is retarded by SR § §9% §RT
(A) Heavy water (8) Mercury (A) 9T U=t (8) Ut
{¢) Ordinary water (D) Alcchol © gE=g 9= D) TeHEd

44. \What does LED stands for ? 4 |FD & T 9 § 2
(A) Light emitting display (A orge gl e
(8) Low energy display (8) A TIol fewat
(©) Light emitting diode (€ rse TRl s
(D) Light emitting detector (D) drse TfAfdT ey

45. The mass of an electron can be found if we |45. Soiael &1 TFHF 9l B THT & R
know B 9Md &

(A) e/m (8) charge (A} e/m (B) aqrder
© £ .4 charge ) eX m © 2 gRe@yr (O exm
I m
Page: 11 600852
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48.

47.

48.

49.

An electric kettle of 2000 watt is filled with
water. If only 80% of thermal energy is used
to increase the temperature of water, then
what will be time to increase the
temperature of 1 litre water from 4°Cto
100°C?

(A) 3 minutes and 42 seconds

(8) 4 minutes and 12 seconds

{0 4 minutes and 42 seconds

{D) 3 minutes and 12 seconds

What will be the total electric potential
energy of the system, if AB = BC=CA=0.10
meterand v= 10 x 1077C?

A

What is the approximate voltage
develop acrossared LED ?
() 3.4V & 17V

{© o6V Dy5V

The AM spectrum consists of
{A) carrier frequency

(8) upper side band frequency

(©) lower side band frequency
(D) All of these

that 4

i&
|
g

48.

47.

Wzooomﬁﬁ%ﬁa‘*ﬁaﬁqﬁ@ﬂﬁ
£ | ofr S ST o B I 80%
oTT & S BT O ger &g WIA e
%a‘maﬁ?\fﬁrﬁaﬂm;},ccﬁmacc
a% 9o H 9Eg i -

(A) 3 foFe 42 ATTS

® 4 firc 12 9FTS

© 4 fiFe 42 AFHTS

) 3 fiFe 12 IF7S

Ay % R W ferm @ A d9d
Refer Hoit &1 &9 S[|Eid AB = BC =
CA = 0.10 #. T y= 1.0 x 1077C?

+2v

+ 60 x 1077 joul®

{A)

(B) _ &0 x 1 N—3 iqnm10
@ +90 x 107° joule
® - 90 x 107" joule

amLEDwagqrﬁaw;raﬁmgﬁar‘
T
(A) 3.4V

© 08V

(B) 17 V
d) 5V

o AM SacH F BRI T

(a) SHRIX AgRT

(8) SR WS I9S AR
© dpR AES IvS AR
© I T

Page: 12



50.

51.

The output of an AND gate with three inputs
A, B and Cis high, when
(AAA=0,B=0,C=0 (BYA=1,B=0,C=1

(0 A=1,B=1,C=0 (D)A=1,B=1,C=1

Transformation ratio of a transformer is -

(A I (8) N,
L N,
© N, (D) All of these

To an astronaut in space, the sky will appear
to be
(A} black

{C) violet

(8) blue

(D) red

. The laminations are made from

{Aj silicon sheet stesi
{8) nickel alloy steel stamping
{C) low carbon steel

{B) chrome steel sheets

. Which of the following is a conductor of
electricity ?
{A) Silver {B) Aluminium
{©) Copper (D) All of these

. Conductivity is measured in

(Al T—m B O0-—m

© U/m D) Q/m

50.

51,

52,

53

S=g 99 A, B &R C & 91 AND e
BT foeia g

A A=0,B=0C=0
B A=1B=0C-=1
@@ A=14,B=14,C=0
O A=1,B=1,C=1
SIBHR BT IR U ® -
(A I, (8) N,
) N, D) I wf
N,

Uh IR IET Bl IaRe H B
ESISREEI

(A) BT (8) <eIr
(© §7fr (D) &1t
fqures g1 s © -

A Rafere fiic sard

B) e Fearg e sies
© =1 BrEds sHUg

0} B @ i

= 4 8 9 faeg @1 9ee © 2

(A) =S (8) wegffr
(© Jrar (O I Wit
{A) T—-m {B) O0-—m
(@ U/m B)  O/m

Page: 13
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59,

(=13
[}

61.

The length of an air solenoid is 40 cm and | 56.
have 500 turns. If 1.0 ampere current is
flowing in solenoid, the magnetic field at the
axis of solenoid will be -

{p) 3.14 Gauss

(8) 157 x 107*Gauss
(© 3.14 x 107*Gauss

{D) 15.7 Gauss

MODEM isa 57.

{A) demodulator - modulator system
(B) code changing system
(©) modulator - demodulator system

{D) programme conversion system

With the increase in length of conductor, the | s8.

value of resistance

{A) decreases (B) remains same

{¢) None of these } increases

Eight charged drops of water each of 1 mm | 5e.

radius and 10~1¢ coulomb charge, form a

big drop of water. The potential of big drop
will be -
{A) 1800 volt

{€) 180 volt

{8) 3600 volt
{D) 360 volt

persons suffering from myopia are advised | 60.

to use

(A) convex lens {B) concave lens
(©) plano-convex lens

(D) plano-concave lens

Dielectric strength of air is nearly 61.

{A) 3000 kV/mm
() 3 kvV/mm

{8} 300 kV/mm
{D) 30 kV/mm

TH dg qﬁﬁrﬁiﬁaﬁmwmﬁ

ax % 500 By ¥ 1 A IR H 10

ampere?ﬁmmﬁ\‘?ﬁqﬁﬂm
% iR I8 W TEEHT & B -

(Al 3.4 T
(B) 13 % 1@-4 Tﬁﬂ'

(© 314 x 10°* T
D) 15.7 TRT

MODEM % -
(A Rerfgare-Higerex Homell

() Brs B gEe BI HOTeAl

(€ Higerex-RedigaeR Homel!

(D) T HUICROT FOMedl

ATeT B TS deT W, HRRE B e
(A) Fedr T | (B) THF & © |
© T QP e 0 gEar g |

£ | 5% &5 @ R B
(A) 1800 dIeT (8) 3600 dIeT
(© 1g0 dlec (D) 360 dIeT

ﬁmﬁmﬁﬁ%ﬁwﬁﬁaﬁm
& o B -
() ST o

© THEIA-SIa o

(D) wHAE-3ladd o=l

ary & WideE el T -

(A) 3000 kV/mm 8 300 kV/mm
(D) 30 kV/mm

(B) gEddl o=

© 3 kV/imm




62.

A 10 k resistor in parallel with 10 k,
produces -
(A) 10k

{€) 20k

{D) can not be determined

(B 5k

. The resistance of human body is around -

(A) 1000 (8) 250
{C}) None of these (DY 10000

The symbol is

{A) NPN Transistor {8) PNP Transistor

{C) Photo Transistor

(D) Field Effect Transistor

=i R

One Lamp of 90 watt and 30 volt has to be
used in a line of 120 volt. Lamp must be
used with a resistance -

{A) 10 ohm in parallel {8) 10 ohm in series

{C) 20 ohm inseries (D) 20 chm in parallel

63.

65.

0 kP Y =R O 10 k URRE

ST AT © -
(A 10 k
(© 20 k
o) giRe =&l far <1 Hoan |

AFg RN BT goRIY o T BT § -
(A 1000 (8) 250

© 399 ¥ P 981 (D) 10000
TNE §

(B) 5 k

(A NPN ¢ifex  (B) PNP giftreex
(€ v giftrex
) Glee ghae g

U%h 90 9Ic, 30 dlec & o™ Bl 120
e B TS R S g | S99 Rl
W B G G BT U SRR -

(A) 10 ¥ FHI FHNRK HH F
(B) 10 3 BT IoN HH F
(©) 20 3/ &7 A0 HH A
(0} 20 ¥ BT TR HH o

600352
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s6. The value of the combination is 8. TITST B A ©
411000 - q(100n
1 1
11 1L
”100n ”EE'On
{A) 50 n {8) None of these (A) 50 n
{0) 100 n (D) 200 n ® T ¥ BIs TRl
(€ 100 n (d) 200 n
67. Horse power is the unit of 67. 373g WfId SPIS ©
(A) electrical energy (B) power (A) ﬁ@ ol 8) zifeg
(c) work (D) force {0 g (D) 94
s3. The combined resistance of the circuit 88. QRYY HI W R -
12Q 128
A—— ——AAAAA—
60 128 ‘ 6Q 12Q
AAAAA— y — AAAAA——
l 12:Q 12Q
IO a
A B A B
(A) 40 (B 120 (A) 40 (8) 120
© 180 ) 100 | @ 180 ® 100
s2. Which is the most superior dielectric|ee I 98a% Tiaga F=EE S - wl ;
medium - (A) SHaTST B =3 o
{A) Bakelite {B) Glass © Ry D =S
{€) Air (D) Paper
70. Golden view of sea shell is due to . qEfES Ad B FIew 2 BT ©
(A) dispersion (8) diffraction (A) %arg B proT  BIfETET & SR
{C) polarisation (D) reflection | (©) greepoT ¥ wRu (0 e ¥ RO
71. Transformer is used to change the values of 71 aiq'qo‘rl-‘r\f F7  SYART ?{-ﬁ? qaiﬁ G|
(A) frequency (B) power | oRefia o<y & o fear o € -
{C) power factor (D) voltage () Gﬂlq[%l (8) e

(© iRy TETD (P) grecst




72

73.

74.

75,

76.

Resistivity of copper at absolute zero is
(A) 176 X 10780 —m

(B) 164 X 1075 Q—m

{€) negligibie small (D} zero
Buchholz relay is placed
{A) in between the LV. winding and the

bushing

(B} in between the conservator and the
breather

{©) in between the H.V. winding and the
bushing

{D) in between the tank and the conservator

A variable whose
capacitance -

{A) changes with time

capacitor is one

{(8) changes with temperature

{Q changes with voltage

{D) can be changed

High-frequency transformers
generally made from -
{A) Mu-metal

(¢} None of these

cores are

(8) Monel-metal

(D} Ferrites

What is unit and symbol of current ?
{A) Unit-Ampere (A), Symbol-I

(B} Unit-Ampere (A), Symbol-R
(€} Unit-Volt (V), Symbol-V
(D) Unit-Ampere (A), Symbol -V

72.

73.

74.

75.

76.

WA Y AU R dld B ARRESA © -
W 176 x 1072 Q—m

(B) 164 X 10720 —m

{Dj I

Taica Rel Rerd # -

() /= 9’ $eed R bushing &
fig &

(B)ﬁconservator R breather & €19

(© T=g diecs Fead IR bushing &
g ¥

(®) tank iR conservator & &F H

qRadT FaRy @ giRer -

) Ty $ i gRafia B 8

®) qroEE & O uRefda Brit &

© dIes & WY gRafa exft & |

0} gRafda &~ Taad & |

& g w9

I AGRT TEBEFR BR A [fd
HL R

(A Mu-metal (8} Monel-metal

© T 9§ BIs 78 (O Ferrites

IR B §HS AR WD R 8 ?

A THETRRR (A), T,

®) THETEER (A), T”HR

O gHEaERS (V), TV

(0) FFETRRR (A), THFV

Page: 17
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77. A fuse wire is used to 7. T AR Bl ST fFar ST ¥ -
(A) convert DC into AC W pC & AC ¥ uRaffa &= |
{8) convert AC into DC 8 AC @ DC ¥ uRafda &=+ 4
{0 prevent an unduly high electric current (© gdd S= fagd or H gRuy #
from passing through a circuit yared 8 9 BT H
(D) make the electrical circuit strong () Rga wRug CIlESEG] g °
78. Byte is synonymous with 78. gTgC FHEAIE g
{A) character {8) bit (A) NG (8) fae
{¢) word (D) band © g (D) gvg
76, Which of the following logics has excellent|79. /] § & &1 affes 9IR ¥ g T ?
noise margin ? (A TTL (8) I gl
(A) TTL () All of these © ECL ) CMOS
{¢) ECL (D) CMOS
80. The primary colours in photography are 80. ISR § Wafe 1 €
(A) red, blue, yellow (B) red, yellow, green A) drer, dterm, @i (B ord, die, B9
() red, blue, green (€ orer, e, g (0 e, Ui,
{D} blue, yellow, green
81. A p-njunctionis 8. pn s § -
(A) a rectifier (B} an amplifier (A e fear! (8) To yagd
{C) None of these (D) an insulator O =IO TF === -
s2. Which of the following is not a2 magnetic = &= & & =9 FEET =T 65t ?
memory ? A == = o=
(A) Tape (8) Drum o B o Roa
{©) Disk (D) Flip-Flop
3. The curve representing Ohm’s law is - 8. qep, AEl  =E= = FEad e}dl o
(A) linear {B) sine function N W& 8l sine B
{C) a parabola (D) a hyperbola (€ R o) FTwEag
24 Which one of the following is a primary cell? | s« e § & 319 W Waff® Jqa & 2
{A) Daniel cell {8) Alkaline cell (N e 9a (B) Tomdlsd odl
(€) Lead-Acid cell (D) Laclanche cell © Fa-<arad I
) AT e
Page: 18 600852




85.

(4]
&

- The most widely used universal gates are

- Insulators have a/an

Good conductors have many loosely bound -
{(A) molecules {B) atoms

{€) protons (D) electrons

Five capacitors are arranged according to
figure, what will be the equivalent
capacitance between ‘A’ and ‘B’ ?
2 uF
- Il
A —11
1uF
1uF == T 2uF
. il
B i
2 uF
(A) 2 uF (8) 3 uF
{€) 4 uF (0} 1 pF

. Transformer works on the principle of

{A} self-induction

(8) Faraday’s law of electromagnetic

induction
(@) self and mutual induction both

(D) mutual induction

(A} OR and AND gates

(B) NOR and NAND gates
{C) NOR and AND gates
(D) NAND and OR gates

(A) large energy gap

85.

88.

IS Ias H R §9 gy B @

(A) 3] (B) TRAT]
(@ g (D) gelaT
g uReE REgaR 98 § | gt A
g B & 919 geu giRar Bl
2 uF
As —|
1uF
1pF—= :FZuF
5 ]
2 pF
(A) 2 puF (8) 3puF
© 4yF (b} 1 yF

7. TG B9 g W B9 ol & 2

A e

B IRE T Ege-gEeT Rea FrE
3

(0 ¥ IR I Woeg 9T ®

(D) I ey

- e WIS SN ¥ AM areT araiie

T B
(A OR 3R AND 7T

(8) NOR 3R NAND e
(© NOR 3R AND
(P} NAND 3R OR T

- fa<dares & 2. © -

(A SgreT Sl SVRTeT

(8) empty conduction band (8) Red grars §vs
(©) full valence band (D) all of these © ol s qve
(©) 3 it
Page: 19 §00852
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o1.

92.

. Lens is made up of . o= g1 Bl g

(A) pyrex glass (8) ordinary glass (A) JrENET BIE (8) WY BrA
{€) cobalt glass (D) flint glass (©) PETeE DI ) f¥e S

One neutron, one proton, one electron and | 91. T Tg(‘ﬁ TH HiciH, Th soagT IR
one g-particle with uniform velocity enters Th B0 [ T I A gEDI &

in a magnetic field perpendicular to plane of st 5 e ¥ 99 & ad=ad TR
paper and vertically downwards. According Y W AR T ¥ ¥y o B | fE &
to figure the P, Q, R, Sare the particles. Find | FER B0 P, Q R, ST I T @

the correct one - g ¥ |
X X X X X X
R
1\
X X Q X X SG %
o X X X X X
P
e x
X
X X X X X

(a) P - proton, Q - g-particle, R - electron, S (A p - Yo Q- T, R - N

- neutron o

S - =M
| (B)P—;{-W,Q-mfﬁ,R—qﬁ’H,S

1

(8) P - g-particle, Q - proton, R - neutron, S

- electron

“
= i ,x)ﬂ

(¢} P - proton, Q- g-particle, R - neutron, S _ - -
Qp-%ieH Q  «®L R T, S

- electron S
(D) P - electron, Q - proton, R - neutron, S- | : . aeF e
a-particle | ® P - TR, QT R ,

S - P

When used with an IC, the term “QUAD" | &2 g IC & ™ “QUAD” = SUART B
means T 9 @ g BAT

{A) 4 circuits {B) 2 circuits | (A) 4 gRuY (8) 2 gRu
{C) 6 circuits {D) 8 circuits 0 s IRTA {p) g gRYY




94.

©
o

[le]
[52)

97.

- The effect of passing current through a

. If in a wire of resistance 12 0 and 5 mm|

conductor is
(A) only magnetic effect

{8) oniy chemical effect
{©) only heating effect

(P) magnetic as well as heating effect

An alloy of copper and zinc is called
(A) None of these {8) brass

(D} gun metal

{C) bronze |

|
i

A proton with 10 eV kinetic energy is 9.

moving in a magnetic field in circular|
motion. What will be kinetic energy of an ¢
-particle (Alpha particle) moving in same
field and same circle ?
(A) 10 eV

{©) 6 eV

{(B) 4 eV
(D) 8 eV

diameter, current is flowing 4 ampere. Then
the number of flowing electrons per second
in wire will be

(A) 64 x 101° (8} 25 x 101°

© 64 x 107 (D) 25 x 108

The material used for photo conductive cell

% gild ¥ WaiRd 8F drel gRT P g9g

B ® -
W) Bad FEHT TG

(8) FHadl YNNG TWIg
© FId ST g9
®) @y & Ay ST g9

- BIR AR RiF &1 g seerar & -

W T4 | o5 7
(8) gy
© 9 D) 9 Fea

10 eV TS &S &1 U Ue Taaa

T &5 § TP qOeR U WO
X W T | S & F g sl uy we

T BA qd T DU (IHI-B)

DI TS ot @y Bl 2 -
(A} 10 eV B 4 ev -
© 6 ev (0) 8 eV -,
% IR BEeT Ry 12 &9 T g
5 fd 8 # 4 TROR 9™ @7 ware & &

W Tl IR oy O yaiRe 29 g
SaeM B G B

(A) 64 x 101° (B 25 x 10
(@ 6.4 X 107%° (D) 6.25 x 1018

UbTe d9Ed Hel § uere SUOnT eRy § -

is - . cds (8) PhS
{A) CdS (B) PbS T Zns 0 T F BE T
(C) ZnS (D) None of these
Page: 21 600852
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98.

99.

100

The three plates each of ‘A’ m?Z surface

area, are kept at d; and d, meter

according to figure. The space between
plates are filled with material of ¢, and ¢,

relative permittivity. The total capacitance
of the system will be

€, =)
—>'e—>
d d,
W e e? (B)
=] dl + €9 dz
@ €16560A (D)

=) dl -+ =] dg

€ €2€2A
Ezdl + Eldg

516250}‘1
e.d; + €,d,

The emf induced in the secondary winding
depends upon
(A} supply frequency (B) flux

() All of these (D) number of turns

. The lead marked with the arrow is -

(A} The Emitter

{C) The collector

(B) The Case
(D) The Base

% qIP N 2 UAE &ABA B 9 4, 9
d, AR & gRIAT W WER W qF

el ¥ 99 e @B g aiRar @&
BRI 7 9% 4 & Wl § ¢, T

g, WHI & ANE JEasiaar & gErd W
g

d, d,
W g eesh? B g el
Eldl + E2d2 Ezd}_ -+ €1d2
© geeA B)  ge.65A

Eidj + €q dZ

0. gae IERT 7 e gy, AR
HRAT & -

() St SRy
@ 39 &
®) gHIq T T W

0. dR ¥ R e § -

(8] gag

{8) &9
(D) §9

(A) wEex
€ THeaex
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